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1.

SECTION - A

Choose the correct answer : 1x10=10
8% Seaht Ay Thraar -
% el @ e ;
8 e T
8 I g : ‘
(i)  Which of the following is not an example of metalloid ?
S LD 4G FB Byt 2y 9
Frare @ trgwmeR Swrmd w2
e A4 ety fafafRy T
Fedash UTAHeY 1 T e & 7
(@ Si b)Y Ge
) B (d) Al

@ Which of the following compound is used in soda — acid fire extinguisher ?
T (I Qo Q'O afe Wi o T e 3 2w —

frare @m @l G- =1 it oo 70 IR T —
mﬁm&a\ﬂa‘r@m—@zm@ﬁmmmﬁmm—
ot i & o 2t 57 3 i s e o o 4 2
(a) NaC{ (b) Na,CO,

Maﬂco3 (d) NH,CI.

AN

(iii) Decomposition of vegetable matters into compost is an example of which of

the following class of reaction ?

W@WWWWWWW@%W

T 2

w&mmmmwmmﬁmmm%ﬁmmw ? |

ﬁwﬁﬂmﬁmmmmﬁm&mmﬁﬁﬁ&?
mﬁrmmmﬂmﬁwﬁﬁﬁmmﬁﬂmmmmt?
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(a) Endothermic reaction (b) Exothermic reaction

Srope®) fRfaemt SreR ffaFnt
Sroran®} fRfieat i R
FeRTae sfuferan Femardt iR
(c) Both (d) None of the above
Wbt G Gh1e T
Terg - Boitaw waibs T
e © AR e 7=
QM . 39U § @ Y T

(iv) When electric current is passed through the coil ‘of a solenoid, then the
magnetic field

smwﬁwmmm@@?@,mm—
FIEES-97 PaATs RIAY 77 AR W@es e@r oS &, e
m_

mmm%ammmwm-

5 foreft afferst @ Seeh  foga wafaa Bt & aa Jashra & -

(a) increasesaiong the direction of current.

&R 21 frpers A1fa
AT 2R frss 3T
i grerfA ferma a e
fr@arfifemdagamar |

(b) decreases along the direction of current.

2R &z frre M7
RIS T e IR
kg grerfy foma wfiema
faga mam A e d gz I &
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(c) remains the same at all times.
AL NS TR R
FIW A G YFI
TR T T AT
SRR R s

(d) becomes zero

. mem
e g
TR

i’ S

MRS IR

(v) Which of the following is used to' measure the potential difference of a
circuit ?

Y (PO IS e (om faefy 331 aege = -
e @m 367 few cov ifm s = |

T AT WiGRETsi e s fagAmar e s -

farelt aftay & fenraia et wm & forg frmr o @ fereent sam R s 27

(a) Ammeter (b) Voltmeter
«f{br THRE[
=pifRoE SHRbR
TPRR weefer
et TeeHIR

(¢) Galvanometer (d) Multimeter
v XA TRbR
ST Dl
e frr wifeefier
Ui 21 r TR
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.
Gi) ich of the following is a conventional source of energy ?

— TS BTERS IUH sa=eies Hife e 7
e @imd srmsrTs =Rz Bes 2
TIETaT T AR Efersen S T 7 &
fatadhasaimmefsaad 7
(a) Wind energy (b) Nuclear energy
IR e ' e e
g " frsPn =fee
o wifRT ﬂa'rermft?rf%r
LCEET ] T St
(c) Geo-thermal energy (d) Wéve energy
g e w3 e
G-oif = e
yw farg wfe eI Wit
LT i

(vii) Which of the followiiig can depleted Ozone layer ?
7S TTHRIS QR o T B SHY IR A —
frare e wom %7 s Te A 2
TETATE HE T8 |1 35 SRS ST’ B T ?
= 9 A 9 3 a1 arvafie s wwar Ot 7

(a) Chloroflouro carbon (b) Nitrogen .
FIPYL I ARG T
PRI BT TRRITS
TR F L1t T
TARAR) H L
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(c)

Hydrogen (d) Oxygen
TR TS | Ul (T
QRTRITE Ui (6T
I AfRTe
EEEH CiCing

(viii) Which of the following constitute a food chain ?

oS S I (PRI 4 237 o159 I 2

e @meRt AW e 95 IR ?
TERTE W@ we g i g ¢
= 4 4 o1 ameR yae 1 P wa E 7
(a) Grass, Wheat and Mango

(b)

(¢)

Download all NOTES and PAPERS at StudentSuvidha.com

¥z, T98 WF W

M, N @R |

Y, TH AR T LU
U, g 34T FH O
Grass, Goat-and Human

1z, A F IR

97, Qe GR T

TG, ETHT AR W

o™, ¥4 a1 AHG

Goat, Cow and Elephant

Qo 5% IF IS
Qe A% SR YRS
wr, \rdt I A
W&, T Ay wedt
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(d) Grass, Fish and Goat

Wrg, g S Qe

T, M GRR mam
&, AW SR | =
T4, TS qu g6l

(ix) Which of the following is responsible for change in the curvature of eye
lenses ?

TS BRI 62 IR 537 @Ied It s 7w 2
e bR o TR TR It HfRad =W 2

TTEHETE W AT WY UTREaH T S8 G ST 9 ?
N &9 Fi T § wiada F fae o 8 @ 99 soerh 2 7

(a) Retina (b) Iris
SfEes 12a R
st [ISERI
e R LG
gfRww i

(c) Ciliary muscles (d) Optic nerve
Rfmd o WY
fafernfy 2 AR ¥y
gt YRt 3% af

(x) The focal length of a lens is 1 mefre. Its power is
IR I3 T'1g ¢ 1 b, et 3 -
3 TR el Ot 1 bR, on e g —
A= T Fw Iy 1 e, ¥ M s -
freft ot Y wrma gl 1 ek | yoehY e wnfi -

(@ 05D ) 1D
(¢) 1.5D (d) 2D
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2.  Choose the correct answer of the following : 1x10=1

TS o - BwArht 1t Bfnsat
e we tef @ s
TN THR & st aaw’
fre & et s g

(i) Image formed by a concave mirror is

SRS WA o1f5S aifsfy

R oA sifde el

T AT RN GREe] —
A V1 gRT 57 wfafis B & -

(a) real and diminished

AL ¥ N Pio®

YR R g
I F qYT Bl =
(b) real and enlarged

A& 1% Rt

e O RIS

YR AN SE

ety faafifa
(¢) virtual and enlarged

e % RRfEs
Tr1e G A&
qIARE 3 T
T aun faaftia

(d) virtual and diminished
TR HIF AT

T G APOS
Ay I g
AT Ay B
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(i) 1If the refractive index of glass is 1.5, then speed of light in glass is
F5A RN 1.5 T, 15 et B 2T —
PR LTI 1.5 1, H05 S 7 TR —
emEt Rfeem e 1.5 s, wmaes Aty @R S
uf whe 1 AgadaE 1.5, A s I wm A a -

(8 2x108m/s (b) 3x105m/s
(€) 2.25x 108 m/s C(d)y. 3x108m/s

(ili) Breakdown of glucose into pyruvate takes place in the

RS oI W SNHTEHLH T = — W
LTS O3 I I I ARFTES “AfAIES T — =
T W TR TEENE RN e T -
R 1 qreae | frae gk -
(a) Cell cytoplasm (b) Mitochondria
Y (RS RTINS
[SURERE W] TR EATS
fraf Rae 1§ % oA
ST g & ATEEHI~§AT |
(c) Cell membrane (d) Golgi body
TRIERATS ST AT
CRPTCRA (AR voiAfs s
Rrefr v e wfar
wiftven fireeft & Tienft wiet
B23-GS (EN/AS/BN/BD/HN) 9 3050
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(iv) The energy currency for most of the cellular processes is

wieen! el aifirg ceifiw 3@ tTR
R st il efdFuR i at e

Tveif frafaanty iRty uraw wif aTE@Ean el -

Fftrrin S vl & R st gz d -

() ADP (b) AMP

(c) ATP d CO,

(v) The gap between the two neurons is called a
o1 I 1o 3y SRR e 2 =
A IRLBIER T TG I
s fardforaRafy oy wriat s g8
2 e ST & ro e e R e § -

(a) dendrite . (b) synapse
OGS QAR
(ORIRG | RN
TR A
o sivsier
(¢) axon (d) nerve ending
i O AT
LIk O AT
Loin R Srafy
e At w1 sifem R
B23-GS (EN/AS/BN/BD/HN) 10 _ 3050
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(vi) Which of the following is a plant hormone ?

T (FICO «fy TR W' 2

e b et SR o 2 Egm

TR A W AT W i!l_

fr= i 4 o oo g AR g 7

(a) Insulin . (b) Thyroxin
TR Sk o
PP | SEElE
LS yrfire
gfem TR

(c) Oestrogen (d) Cytokinin

T o LR

L {eciAT ' FAGIEIZ
TR - I ECACIHEE]

he process of \GVing rise to new individual organisms from the body parts
of many fullpidifferentiated organisms is known as

fom weat R 79 R Pres ord @ W9 ~11% T Bt eerR §ig

Teoife 3437’3 131 &SGR [T =W —
fom = RFE g &7 SR oo FIET % (T TG 9IH ey §
Teoife T efdFnfbee 3
MEl g AET AT AR F AEENEHE TeE vyt R Jnfiem gee
faranfRrelt g9 sy -
qoiedu ffea Sfe oras Fife Wi srufq gwel @ e fe s e ¥
w YiFa B e & -
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(a) Regeneration (b) Budding

TR e TR
T T
e A ™ ﬁ
NSRS e
(c) Fragmentation (d) Fission
Rt e 31 RreTe |
Rew= e 3t o |
T G . S

(viii) Binary fission occurs in

fR-Rerem afirar weefhs w7 -

f-Rrere afirn eafbs o -

TTEA AT fEnRr st sy -

fesa g -

(a) Amoeba _ (b) Paramoecium
R TR RS
SRS ATRIHBRINTS
far g | Wfaam ame
Sreftan o s §

(¢) Planaria (d) All of these
€212 E) 9 SRS |
o))l 92 RS |
R 7T ¥ T
At § wft §

B23-GS (EN/AS/BN/BD/HN) 12 3050
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(ix) An example of homologous organs are

TR o b1 TR e —

AT SO 3D TR 2 —

TR S A R R e - m
THSTA 30 1 T e ¥ - 15%

(a) wings of a bird and a bat
TR TOOT ¥ IR (ST |

A1 T R AR O |
s vaft 3 TweE & TE

(b) wings of a butterfly and a bat
i@ +ifY <% Ao o |

ST T GIR IR T |
fafgff i s arernfefs T
s foaef AR TR & vE

(c) wings of a pigeen and hands of man

14 A TS |

ITSA 31 AR T 43 TET S |
a1 3 T ST

TF FER & TG N AT & Ty

(d) wings of a parrot and a honey bee

Ih! 5 #HfY = e k.
fenfim Tt w3k AR ot |
wror’ 3 o ST A o -
& A 3R Ayl % T
B23-GS (EN/AS/BN/BD/HN) 13 3050
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' : : i male sex in
(x) Which of the following chromosome sets will determin® the a

human infant ?

TR T S TR T I s g et i I 2
TN TR GRCATCOS (T e STSTGee Coe o3P e 14T 403 2
TR T S R 31 R e e drafy e f Qe 7
e 3 & 2 1 Tvreg o g e e g (orgen) o 6 Frafor wem 2

(a) XX (b) XY
(¢ XO d YO
3. Fill in the gaps : LIfeyL) 1x10=10

Lk SRR IC

AT AT 3T @A™ —

o w2 1 g B

@ The hydrocarbon which is the major component of Compressed Natural Gas %

(CNG) is .

il 153 eiPpleesreg eyl Somi 2w e Ry g's |
BI% AT SAREFSE SR 24 Bomm QREerdR S = |
Traera e AafR e YR T wEs SEE

TR A qAfEA Tpfw T g e |

@ The product ‘X’ of the following reaction is
oo b Rismers «mid X =
Nesx Rideaiba Ridrarens o x> e
e Rerareef Reraen g X 31
frer arfrfea % seames X' %
3Fe, + 4H,0,, = X + 4Hy
B23-GS (EN/AS/BN/BD/HN) 14 | 3050

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

-
@) When iron is mixed with nickel and chromium, we get an alloy named

mw.ﬁmwmwwmwww,wm

mmfl-lwmmmGwm @b TR 4G *1Y, IR W

ﬁwmwmmﬁmmmﬁ wrafy g

g@mfﬁ%mm%mﬁmaﬁ_mmu@m
I

@The process by which some organisms fulfil their carbon and energy
requirements and yields their stored form of energy is |

Mmmmmwm@@ﬁmmﬁmwm
A I IF P RS Fiors 3t 1 T oA |

A G S I AR Ios R R I aw® e
BIRAI o R G IR WS FTo IS =R BesA A |

3 St we et Tt IR @R e e s s
ufFaf Mt 3y Fiem Fr Swra wiw, AT TEE e |
NREEN o e wrEa 3R Hat £ o et B o e § ok

B ——————

9 sieTie. Eat AT e € | Egm
v) and are the reproductive parts of a flower which
contain the germ — cells.
% TH oI TR & 29 TS S (Y Ry
o | ,
93X A G TR SIS S TN oot TS
e |
AR SR AR AERf s s e st
Rraflaera g |
v o3 & e I & R em wfrend v |
B23-GS (EN/AS/BN/BD/HN) 15 3050
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Qvi) A feedback mechanism regulates the action of the _____——

g oo afiw g
e ol ot «3 R fomge 2 |
TR G AR AT £ ey T |
fRrzts w2fx # frm P e X |

~\ _ o

(vii)| The mirror is used as rear view in vehicles.

KJWWM - AT TS & |

MR fores o (7R oy 7o IRTS H |
MR TR T ST WTEREAE W |

Wmmm%m-wﬁﬁ%mﬁmmtl

@ electric generator, energy converted from _  energy to

ener,
[SlGCE mﬁg‘wy et sReS eI |
ST (AR = (T TS AT |
wiferE SR wiwmh wifafm e |
g P St 1 TR i Tt gy |
" (ix)\ The 3™ trophic.leyel of a food chainis . -
KXW ‘I(Wp'if,?'i“?Tﬂ B XA | -
G R O WA 2 |
o R emafer oo |
STER et 1 iy Ieft e @ |
c,/—hh\‘x
(x) “When combustion takes place in insufficient air (oxygen) gas
plloduces
T ST TS i e IR TR Beofe 2 |

T SRR TARETS owiid wem T Beom oy |
A AR aeEE gt EEe iy

%1 Sl $ afeufy § 7 89 w o I R 4 |

EN/AS/BN/BD/HN 16
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4.  Answer in very short :

1x10=10
o S B

B efing T s T

S gk e 1 e

A wa & T ¥

() Among K, Na, Ca and Mg, which one is the least reactive metal ?

K, Na, Ca 9IF Mg ? ¥was @R Afirre: wibaets 7 2
K, Na, Ca 93 Mg - @7 fowrz miba Aftrret 711 (e 29 2
K, Na, Ca 3Rt Mg T wrera wrify wimifra safiegs ww 7

K, Na, Ca 3t Mg # & #17 wwd % afFg uig ¥ ¢

-x({ii) '_ On heating gypsum at 373 K, it loses water molecule and produces a white
powder. What is the'chemical formula of the white powder ?

ey 373 K%ww@wasﬁrﬂﬁawﬁmwﬁqumﬁa
T | 390 #I%wIR R Ipmafa AT B |

fErepTTe 373 K Teo Teg 3307 W WY YR GFLRIRR A Ao
Beom ZF | A AIETRD INIT FTFS @0 |

Ry 373 K gumeame gggre 330 2 Tmmet TR de T aeen
HEir | A TH TSR TERATR wogerE i 2

forem ) 373 K WOl %0 o 7 e % Svpadt Y wm e R qun o e ol
e ¥ | 39 T%e U 1 TAERE Sha w7

B23-GS (EN/AS/BN/BD/HN) | 17 3050
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_(iii) _I;Write the thermite reaction.

<1fi Rt frer |

il RidFn® e mom
e feememesh fim | | ®
yftfe srfirfimar =t fafaa |

@Sodium react violently with cold water and immediately catches fire due to
the liberation of a particular gas. Identify the gas :

B RN AR St <IN TerS ek @ R TR 7o @3 Rew 91
o Beo T IR ForwECet FfRTS wR Wl B | o1k Revw o Ry fBere
¥t |

CIRPANT 41 Bhet wTeR F &eT Rt RRFT IR I 6 RO™ @R SO
Teom T | IR Tt FARTY Siew vt otp | TR s s e w3t |

H'fEam urgen g A M R IR S S g e
Wi | Trfy frurs 7 st an Staret | @ i e iy e |

ﬁ&m%a@m%ﬂm%@ﬁﬁaﬁﬁmm%aﬂtmm&aﬁmh
i swfiaad ¢

(v) What is the least distance of distinct vision of normal eye ?
T T2 5FAINA B 189 o vaw Rt 2
IR T OIS W) 8 78R TSN /RIS ?
aAfaf de St yrEr e TR EERe T dd 7
TR 3R it wee geie & fg man gl wn k7

(vi) State the S.1. unit of electric charge.

T WA S. 1. 43 ot |
IS YA S, 1, G B0 |
wfer ' 8.1 wrmfe o |

faga v & S, wrE W 7

EN/AS/BN/BD/HN) 18
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o -

@Who first discovered that moving magnet can generate electric current in a
coil ?

TR RN TR T6RS A ez A @R @ e/ SiReE
e 2

DI RECE AR TS Qi errz o 2ol @ aww wifwm
TR’ 2

grae fifdmafy st dieurgme e g dufirme @ fify g ¢

Wﬁmwmmﬁﬁgﬁmﬁq&mmtwmm
forga fpamen 2

at is the approximate percentage of methane in Bio-gas ?

SIS TR i =i R 2
. Egm
RIS R S *roio) 3 7 ' @ﬁ
Rrarft g ety s wm Shareen adEt 7
J9 fw § B9 = widea o fear g @7

(ix) What will happen ifa person consumes iodine deficient food ?
TR o e A SRGT ST 41 2z I3 (ofemt 6 23+ 2

R G I SRR TeRes My 429 I B9 7% 303 g 2
A 9 gget e o' feafy stEme S S S Srse 3 el gnh 2
afz Y =afa mﬂﬁﬁrﬁmﬁmmmé,?ﬁw‘@m% ?

(x) How would you define a ‘gene’ ?
‘R bR 7wt It e it 2
@3 ‘" 07 e Y e fog 2
‘o' Bafy gerfy 3t arnf wme ¢
19 “AR" P SR L T k2

B23-GS (EN/AS/BN/BD/HN) 19 3050
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5. Determine true or false : 1x5=3$
] It o7 efy 7y

WQWWW' n
8 71 e i foofg i

(i) Inmodemn periodic table, elements are arranged in 18 vertical columns and 7
horizontal rows.

R e Sifre (e 185 R ST wiF 7 SHERE M
RN TR |

i e Siitem Maski 186 Saw v w7 SRR AT
ST A |

TieH AR 4 &TeaE Tfe qamish 39 18 it e o 7 7 sREi
INATE AEAE 91 |

YA aad arvf F, v @) 18 St wut a7 R afRw § safie fea
Leig

(i1) Precipitation reactions‘produce insoluble salts.
GYTwA R HGRT 709 SLoH 2 |

Ty TS RIS Wy #3e Teom o |
Mfes"ma femarsare nfef wRy 9w |
argarau e 1T dan ST H B

(i) Non-metals can displace hydrogen from dilute acids.

Y RS A TR 22 T &R 247« |
Y BTS (T SYIY LRI SIS A0S 41 |
e e urgafyen g S e T |
FruTg a3 et A FEST ) et s awd ¥ )

B23-GS (EN/AS)’BN/BDfHN) 20 3050
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(iv) Coliform is a group of bacteria, found in human brain.

oS A1 AR st Ry e werege coiat T |

GRS B ST afor e worCer e T |

it G At srerge sty e wn |

Flefient a &R T wHE o § R a R E | "

(v) Roots, stems and leaves of some plants develop into new plants through
vegetative propagation.

g B forett, e w1 sireq «1a1 e e et g SR A
|

IR0 BT s, e Wk siret (e W R ow T3 Seve
SRR

AR HAH A=Y |

55 i it 92, 7 ©n Rl wiE yadw g fesle S T da Ia=
w ¥ | |

SECTION-B

6. Write one method for the preparation of bleaching powder. Write two uses of it.
1+1=2
fafd +ema ergeae bt oS forat | faftr ~iSwraa bt Tz foret |

fafe ~ntom emewarR w3l *mms @dt | ffte e b gr=m et |
fRorfti grasR WA A e for | AR T Bt W R |
firtores <01 & IeATEA W1 T it AR | yeds St Iwm faf o

B23-GS (EN/AS/BN/BD/HN) 21 3050

Download all NOTES and PAPERS at StudentSuvidha.com™


http://studentsuvidha.com/
http://studentsuvidha.com/

7. Find the product of the following reactions 1+1=2

TR AT REFTSR Sesiifre 73 et |

e efRFmm Beenfe 71 @@ 3 -

ety Rerenumears e g -

et srfvBRSi : L

(8) CaCOy) +Hy0 ) + COyg —
(b) Na,CO,+10H,0 —»

8. How metallic character of elements changes across periods and groups of periodic
table. Explain. 2

RIS S i =% IS 1oy oxf @ RS 20 it 341 |

RIS IR <1 3R IS 4oy af e Rk < T I |
TR o AT ST SR TR g3 S arafe avemat 469 |

Frad ot % At o wEl § et w1 wfeys o 3 Rafde g 2 7wk
i |

9. (a) Reaction bgfween ethanoic acid and sodium carbonate produces a salt,
CO, and water. What is the salt ? 1

XA afos w1 = fomm it Rfdmm wore «oft 7, Co, wire =if 7
T | o Reg am ¥ 2

AR ST 3% GRS PGS s 3 b T, CO, 32 WA
AR R AH 2 o

YT oI St afbam Hre A R s A wRe, Co, am
Qamtya | R gE a7
@mmmﬁmwﬁﬁz%ﬂam%qu&c@mm

| = g} | I T 7
B23-GS (EN/AS/BN/BD/HN) 2 3050
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(b) Find ‘X'

X R

X Rwo

X A 7

‘X Tk

CHyCH,0H —2, cH,co0H mGm
O

10. Draw the ray diagram for the image formation by a convex lens, when object is

- 11,

placed at centre of curvature. 2
BT (R 9T S TS e AR 2 e st I e 4 |

A3 TG AT S IS oTRE AT 07 2o ST APl e A |

T A TR e firears Sei g enfe Af arag @ity der aemi anf |
I T8 g & wfafae %1 0w fmw s Wi, we fig s s w Rm @ |

Decomposition of 2 g of ferrous sulphate crystals when heated generated 1 g solid
oxide and two different gases. Identify the solid oxide and both the gases by
writing proper chemical reaétion. 2

ot et 2g TR weTh o Rrre b 1g tilt sRige wiF 7R R ora
Beow = | eI AR R Bl ot weite R e R mr o
fore 31 |

oiof et 2g PRI ASTRG Wb Ruares 9 1g 6 SRS 4R 7% QTR
Beow T | ESam. AT R e @ owiis 9k 53 @R SIS e
L ff

firg, Briveen 2g W TEhe T A T g T SRS AT A A
qafr | MRty aifed qarEAR e o T T SR R WE dee
fommaty @em |

2g ¥\ T & P Y ™ T W 8 fafE B 1g 3w v ol @
-z Aet w1 Tare et X | W TEEtE Afife ® fim w3
stame am oAt et oefg L
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12. What do you mean by Corrosion and Rancidity ? Explain with examples. 1+1=2
ST S AR 3 e gon 7 Sargaer ST e 3 |
ST G @B oS e 9 S TR e A |
AT R By geveen w1y 7 AR dwmmm ddy |
HHTor v g viftren & aw w wAw € ¢ e afiem aoi AR |

13.  Write four properties of magnetic lines of force. 2

IO AN G5! of fret |

r o s of et |

G WITTET@GIE et By aiim fom |
T & Tt & =R it ) g |

14, Write two disadvantages of fossil fuels. 2
SRS R 751 Sy, s |
GRS THR 5 SHAT @R |
TS @I PETHIER A g o |
Shtaredt $u= 6t 3 wfval iy |

15. State any two methods in reducing the problem of waste disposal. 2

(AN SIS 1 G 751 *1fS e 3 |
B foefler ST AR o s S IR |
e, angrafmafs e wmmEmfy B srew TE |
&0 FI9TA ) T w0 0 & frg Rt Q) et 1 aols Hifvie |
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16.

17.

18.

19.

B23-GS (EN/AS/BN/BD/HN) 28

Why should we conserve forests and wildlife ? 2

TSI 0 g e et e wmoot

T R IRLTNLR @ e 390 7 2

T R ¥ Rrawiceh oy dtenfa B 7

W T3 T T S w5 s s ik 7 LU
[=

What is meant by power of accommodation of the eye 7 z
T3 TS Hwot et 5 gurt 9

COITHR ToTIEH FS! 3270 N @ 2

AT TS T8 getee w1 gRw 7

A= Y FH B A I R 7

State two factors does the resistance of a conductor depend. 2
AfRABT Ay e vt 7t = o | |

R @y frsa 3t 4 e et |

L&t Furan SFTEE B et R

A Tt i R R e e e o ey Pk wemr® |

An electric mototakes 5 A from a 220 V line. Determine the power of the motor
and the energy consumed in 2 hours. 2

o1 QAR WO 220V AL A 5 A AR AT | WAWR TS| W1F 2 THS X W

1 =fep Tforaar | |
M TR DA 220 V AR (WF 5 A 2RIZ G | A WSl @k 7R o

otz 3 T2t e R IR |

TR MR Tz DAY 220 V FARHE 5 A W dR@ | TR T am 2 s=RE
B\ e AR g |

i Ry wex 220 V & Rga d1a @ 5 A frg a0 A & | e B ol Pifa
g e 2 w2 3 A FR TG FA1 TR R |
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20. What is Blood pressure ? What are systolic and diastolic pressures ? What should

be the normal systolic as well as diastolic pressure values of a normal person ?
“u+l+¥%=2

TIor! 5 2 B8'fore s s s oot R 9 e wgza et R fors o1t e
SITRE fors Bie Tt e et B 2

TEM W 7 BB 2 S vt ® 9 aew TR AR Bt it
O TR BT T 37 2671 BB 2

& TRYTE M ? AR AR SR Herdy TR o2 9 AR e
U AT TRUTE AT 1irarfy TRumshy frarer St s A 2

TR H1 R 7 TFA oW IR orfufem g w0 § 7 wwe w1 g e IR
e g v & 7

OR /(%3 / w3t/ Tan / F7eran
What is lymph ? How does it differ from plasma ? What are their functions ?
Vit Y+ 1=2
TR R 7 SIS T % R +j906 2 QR PRI 3 1 9
wore | 2 e (eE b P jue 7w FrowE ¥ 9
formmam w7 ooy 39 AR qer 7 FERf @ e a2
TE Rt s Ad AR v sl E n
21. What is a neutomuscular junction ? How does a nerve impulse travels from one
part to the other part of the body ? “h+lh=2
TR AT 87 #8197 b1 0 o S S WA R 2RI

_q?

TR KIS & 2 %A G e (W WO S FALeRen ey et

?

fadm dmit Swmen w7 Wl TR aEEREE TR O R e

A ArEt gy 7

it Yefra aftr a1 & 7 i ST B T R 35 T A R e A w7,
OR /ST / &e / Qw1 / 39T
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22.

Draw a neat labelled diagram of a nerve cell and state its function. 1% +%=2

RRCFT O1 43+ ~1fwra i b it s o 37 7@ 31 |

T IR @ i s i v wa o 1 7@ A |

Rl RorafRefs srd sl R fafRn wra st S 4R e i |
T T HIRTHT 61 T w18 qun 75 Sl w5 o I |

Give the differences between binary fission and multiple fission. 2

fa-Rsrem e Tefretem arem =iz wodiat |
fa-Rerem w3 Teferem oy sk orte | moE
T ST S i ST R R | e
ﬁﬁmmwﬁmwﬁm|

OR /%3 / &R / T / e
State the advantages in plants raised through vegetative propagation. 2
AR R iR 7Rt et 33t BRew e evare B & R okt 7w g
91|
uﬁwﬁ@m%ﬁw@wﬁw@%ﬁﬂm et & & R snent aw g% .
A
AISHTR TR STTEHAT QG ARG SAETE AT /I @Y A §E 96 |
Fifes yaH= + TR I T 9 7 Far-aan glaumd ad # fofla

What factors could lead to the rise of a new species ? 2

Bt T ererifeR Beoife A e 6 PR Sz carenm 7
a2l T ey Besifan w6 R PRE e o ?

" Y river wifve SfFTa ATET W AT e R g 7

A 9 & e ¥ A TR whehe % I H werw X 7
OR / &1 / Q) / QT / S
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If both parents as well as the children are found to possess light eye colour then,
according to you the light eye colour trait is of dominant or recessive nature ?
Explain why or why not. 2

% fPrg-T1g TS 01 (SRR I SRS T “ATe 339 T I (TR T
B “IIo T SRR P! (oM WS erordt (7 w-eed FORA X 2
= G A |
T Prer-sret (Reete S Sl STerERt oireR 2o 3 T2 I O GBI
T R siffere R o e et Nt w-eeif TR TW ? GA WA
LURIE S
IR Rt - Fa T e Ry e ) afy T e ) e
RfR e e ATRTEfY S SR i afen e T Tew SR orEh
AP ? A AN T AT G |
R T (o) e v QR S e 1 2 oo feerw & it %
mhmmm%maugﬁ?aﬂhﬁmaﬁmﬁqﬁ?

Egm

®

24. (a) Comment cfdthe electrical conductivity of ionic compounds in solid and
molten states, 1+1=2

RN QR TN Y O Rerfdre s Rgps sifaifer s s
|

mmmwmﬁmwmmmm
FA |

mmﬁmmmwwmmmw,
Hrafe Afret ) B e frere 3 finge e w s iR |
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(b) How electrolytic reduction is used for the extraction of metals ? 1

Wﬁmmwm‘c@ﬁmﬁwwﬁ%wwm?
4G T R Rt stafs Rreta IRER 31T 2
v fefma e Gfew fifcg s afemer AReEd! ek aEEET

I 7

urg frsameior & forga atowestt argeram @1 v $Q frm o & 2
Me®
=

25. An object of size 7 cm is placed at 27 cm in front of a concave mirror of focal
length 18 cm. At what distance from the mirror should a screen be placed, so that
a sharp focussed image can be obtained ? Find the size and the nature of the
image. ' 3

18 cm '3 WL AL WL Q7 LS 27 om JITS 7 cm F1EA 77 b1 341
TR | WA a1 R TS o1 3 e s s ol5w ca elfofr bt

IR AR 7 &g =i o aigfs fadr st |
43 18 om PRI TCRS SRS AT AT 27 om S 7 om SR w3 78
241 TR | WA (6 T aTe 3l o AR GIbTS MBS Siow 28R b
&ifefg otem At 2 2fSRIER TR 9 &S Ny T |
7 ¥fty TR R AR garE 18 A T'HE AU N T GO AR
RyTrETE 27 M TEE e we | e eRE /e e grEr et
ST AR AT RGN 7 W T AR g g |
7 cm HTES 1 H1S fod 18 cm HYed g % et araae gdur % W 27 om g W@
wtim%mﬁm%@mﬁﬁtﬁﬁmmaﬁmmmmﬂm
forarr o G 7 YT b ETES T WepH ST AT |

OR /%31 / &931 / 7w / e
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A 2 cm tall object is placed perpendicular to the principal axis of a convex lens of
focal length 10 cm. The distance of the object from the lens is 15 cm. Find the
nature, position and size of the image. 3

2 cm THOR T @Bt 10 cm F'ITE T TG (PR 94 TP T TSI T
T | (RS *A1 TR TG 15 om | &RERTR 23y, s i SR e =t |
2 cm THOR @I I 10 cm @RS TR @I TR @R T WOFT YR
TSI AN ZCEA | (T (W W R 15 cm | &R agfe T @R
e et aear |

10 af ®'Fm IRl W g Sl mer aaf gEE 2 Ay T A AR
T AR wRee e | A=afse e gty s 15 3 | gt STy,
urafy AR e wEEh g | | |

®1E 2 cm o4 R 10 cm B g 3 Reeht 3ot ot % e v 6 wwaa @ b | R

AN 15 cmtlﬁﬁﬁﬂiﬁm,MWWWﬁﬁQl mom

0]
26. What is the full form of ‘ATP’ ? Why is it called as the ‘energy currency’ for most

of the cellular processes ? How do ‘ATP’‘molecules produced ? What is an
‘Endothermic process’ ? How do ‘ATP’ molecules used to drive these processes ?

“it+tWh+1+%+1¥h=3
‘ATP” 3 7 aerh! 6 2.3t @il R cvas 2o @il a1 e gut 3
@R R 7 ATP; <7 SRR @ Sefirs 28 2 St} e 5 2 ATP?
SRR TR A SR FAR BTG (AR JIZR 41 T 7
‘ATP" - &7 ot efb M7 PRl @i efemm crta «fbes @l 2 et
TN W @ 7 ATP - 3 WIGFT e Tesiifrs 20 2 Sroan® efmn & 2 <ATP?
SIBRTE QAT AT T FAR (P RO TR TR 2
ATP 7 3rg wea m 7 Maifem Rrafera frafafy Jemm 3@ Reafentt @ iy
SEEY T T W A 7 AT 1 T ae swi 2 fag dem
fe@fRan m 7 ATP THmTERG! IER FrETRaE e SemE Tt e
I ?
T AR, FEq & T R ¢t S s F R oot i e
TS ToF7 1 2 T oA & TR § TR 3ropait 1 3w 453 2 2 -

OR /%31 / &%t / TET / e
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What are the methods of excretion used by the plants to get rid of the excretory
materials ? 2+1=3

How do the strategies differ from that of the animals ?

TGS MILCIIA o T ~4rdter Seras R s formnem 2 Secanel 03 7 @R
23T Tt 31 (et gz enficy STt 9 FPETSLE (FTTE @@ ?

BT SRR (T T sfen T Bew 6 s P effdm ot I 7 @]
SIS STa1or T FETTE 2R STt Tt FIET (T ST 44 7

Tfs R qewRRwEE Yafy B aEEE W W e R e v
RETRAE AT SETar Reaiar s deifgs smeEed Je1 ?

oot et & e T 3 for wew R veadl fft w Sw e € 7 3 gfRet
Fgi AR E
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